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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : 1x5=5

Oo 2HPTRE el fadl ¢

(@) Which of the following does not
represent the empirical relationship
between mean, median and mode ?

©eTe SRS (FIIGIE W4, S S %7
e Sfveeifefes 795 afefifdg Tw@?

() Mean-Mode = 3 (Mean - Median)
T4 — ¢ = 3 (4 — J)
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(b)

.. ) 1
W M ==
(i) Median 3 (2 Mean + Mode)

1
S = =
g 3 (2 W7 + 3%7)
(iii) Mode =3 Median -2 Mean
=R =3 NW—2WU

(iv)] Mean=— (3 Median + Mode)

WU‘— (3 T + %)

Identify  the

Scal
measurement which a] e/ scales of

observations. allow ranking of
CRICO!/ CRINTRIR st "NNW

FPE Mo, T
I o Rl 5

(i) Ordinal scale,

Ratio SCale
ERREIED b BT
» I
TS st T Ao e
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(c)

(d)
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(iii) Ordinal scale only

@ TS AT
(iv) Interval scale only
(3 I 2T

What is it called when the source of
data is collected and compiled by

others ?

U Bt oAt S A AR o ATTe
0 oiF & @M?

(i) Primary data
I

(i) Secondary data
(T o

(iij) Tertiary data
woR TR Oy

(iv) None of the above
QoIFq OIS A

Which of the following is the arithmetic
mean of the first n even natural

numbers ?

ooTs SERe @ gaN bl LA AFieT
R AR NG ?

. n+l
0 —
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iy n+1

@y )

2

iv) n(n+1)

(e} Three fair coing are tossed togeth
er.

What is the .
heads and Ong rtoall?laglhty of getting 2

2. Answer q
ny fi
questions .~ J*"¢ from the following
2x5=10

Wﬁﬁ’ﬁ’l’l?ﬁ ﬁzmm? mﬁ?ﬂ"

. met
primary data. ho
W GQB q{m 57%7‘ W WW ‘ I

(b) Distinguish b
etw
Schedule, ©

ST S SFRISR otekey o

(c) The varian
ce of th
numbers is 10. Finde nﬁI'St n natural

AT Bl ARpfeT g
1 R &R 101 riR T Refy

ds of collecting

€n Questionnajre and
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(d) Distinguish between frequency curve
and frequency polygon.

AR T T IR TG ALy foran |

(e} Write the formula for the combined
variance of two sets of observations.

; o1 fom ol TR IS YR I
| ferai

() Show that variance is not affected by

(g)

clL (@R)

Frequency :

R
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change of origin but affected by change
of scale.

(TG (X 2T TR ARG 2 el TR
g T RS T geiE =

The median of the following frequency
distribution is 25. Find the frequency
corresponding to class interval 10-20.

oS fial ARIIS! I TG 25. TR

10-20 Reifics el Rt 71 el 411
. 010 1020 20-30  30-40  40-50
2 ? 10 7 3
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(h) Let n dice be thrown. Find the

()

G

mathematical €Xpectation of the sum
of the points on them.

&l nﬁﬂ:ﬁ@ﬁﬁﬁﬂwi’mw@ﬁ PR

B*ﬁvemm%mﬂm -
R =) o e

4 box containg 6 tickets. Two of the
tickets carry g Prize of Rs. 5 each, th

other four tickets Carry a prize of Iée f
each. If one of the tickets ig drax;vn

randomly, what ig
’ the
of the prize ? Cxpected value

ﬂﬁW\oGﬁ‘tﬁWm,mmw
B+ 7 Rs. . T A 51
B9 T Re. 1.

If () E(X)=12 ang () var(x)= o
then find (o8 Sfrey) E(2X +3) and

(B1%) var(2X + 3).
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X

Answer any four from the following

questions :

5x4=20

©oR SRR [t Jfohrs Bes fum ¢

(@)

(b)

(c)

(d)

IRAIE!

Write a detailed note on Ratio Scale of
measurement of statistical data.
ARIRIER O TS NI eoFe b
Rge Gl T

Write a brief note on the general
rules for construction of frequency
distribution.

IS T AR A AT LR
Rofmrea 8ows «ft 53 GBI fordi)
Show that standard deviation is always
greater than mean deviation about

mean.
edl (@ TS Roem WG == @R WY

Rpfoela MA ©iex ZW |

The arithmetic mean of the following
distribution is 1:5. Find the values of

f> and f3.
OoT IBAOIR IS WY 1°5. fr F [ TN
Az =11

0 1 2 3 4 5 Total(Id)
Frequency : 45 f f3 25 10 5 250
7 Contd.
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(e) Write a note on the point of concern

(9)

that _should be kept in mind while
framing a questionnaire or schedule.

ARYTOPTZY @oigw Bt Bl

The duration of
electric bulb is
continuous dis

life (in hours) of an
assumed to follow a
tribution with p.d.f.

R R4 GO Ryl pifeg Gl
(IBr®) ot
Yfifes 3% PRI PRI IR AT, (p.d.f.) 2

-— c .
f(x)—F, 1000 < x <1500

Find (Refa =) .
(i) The valye of ¢ (] i)

i) P(X> 1200)

Suppose a die is th )
probability of gett rown. Find the

number or a numbe even
r
both. greater than 4 or

w1 9 Tl Rew at 251 oy 1 ey

B Bl BIROLE wrey ke YR Senre
IR TR el '
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(h) The probability that a high school

1 .
student being male is 3 and that being

female is % The probability that a male

student completes the course

7
successfully is 10 and that a female

4
student does itis =. A student selected

5
at random is found to have completed

the course successfully. What is the
probability that the student is female ?

g R Raideer oot g9 RN
ﬂ@tﬁ@ii’aéwﬁ @RR TR Te

%IQWWWWW@W

el T4 {5 o o BN iR TRl

%lﬂﬁ@ﬁ@%WWWE’ﬁ

O (Tt e (4 (9 TSI AT NG
<R s RMmTRE! ¥ @RR Tkl

a2
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4. Answer any one from the foll
questions :

R PRI R wbre Sag fogp ¢

(@) Write a note on presentation of
frequency distribution. Explain how

histograms can be drawn with data
from—

owing
10

(i) discrete variable, and

(ii) continuous variable.

IRRITS! IT BotgIomiT Rrers afb Ot foral
i) R vers, o

(i) RMeA vereq

Y 5 T Team BT 1t 3wy

(b) Compute the measur

¢ of skewness and
the measure of kurto

sis for the following

distribution :
Wa‘fﬂmmﬁwmmww
RISRCER e I
ClL 3T 8121347 18 B2 837 33.37
@R
Frequency : 2 8 0 12 6 3
I
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(c) For nevents A;, Ag,..., A Prove that—
Bl TG 4;, Ag,..., AR AW G T @F—

U P(Q Ai]ZiP(Ai)—(n—l)

i=1

< i P(A)

=1

(ii) P(U Af)

i=1
(d) Let a random variable X has the p.d.f.

(@l 51 TS 5O XT AT, XA
f(x)=ex(x-2); 05 %<2

Find (Ffa +9)

(i) Arithmetic mean
AT TG

(i) Median

W

(iii) Mode -
I

(iv) Harmonic mean
73T NG

2500
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